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Homework: Week 2 Homework

Score: 1 of 1 pt

211

Determine whether 19 is a solution of the equation x+16=35.

Homework: Week 2 Homework

Score: 10of 1 pt

1.0f 45 (45 complete) w | p

Is 19 a solution?

¥ Yes
No
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19+16=35

35=35 j
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X=-12-8

X=-20
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4  20of45(45complete)w | p
@) 2.1.19
Solve for x using the addition principle. Don't forget to perform a check. The solutionis x= -20
¥ 8==12 (Simplify your answer. Type an integer pr a fraction.)
e T
Homework: Week 2 Homework
Score: 10of 1 pt 4  3of45{45complete)w | p

@)2.1.23
Solve and check.
a-8=-17

The solutionisa= -9
(Type an integer or a simplified fraction.)
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Homework: Week 2 Homework
Score: 1 of 1 pt
) 2.1.31

;olve the following equation by using the addition principle. Check the solution.
22

X+g

8
The solution is x= 5 - (Type an integer, proper fraction, or mixed number.)
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4 of 45 (45 complete) w | p



Homework: Week 2 Homework

Score: 10of 1 pt 4

@) 2.1.41

Solve the following equation by using the addition principle. Check the solution.
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ST e
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The solutionis — 20 (Type an integer or a simplified fraction.)

50f 45 (45 complete)w | P

Homework: Week 2 Homework

Score: 10of 1 pt

@)2.1.43

Solve using the addition principle. Don't forget to perform a check.

74=x+13

Homework: Week 2 Homework

<

6 of 45 (45 complete) w | p

The solutionis x= 6.1 .
(Type an integer or a decimal.)
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Score: 10of 1 pt 4  T7of45{45complete)w | P
) 2.1.49

Solve using the addition principle. Don't forget to perform a check. 11

The solution is x = T
2% +x=5 (Type an integer or a fraction.)
pr—N = . -
Homework: Week 2 Homework
Score: 10of 1 pt 4 8of45 (45 complete)w P [ .
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Solve using the multiplication principle. Don't forget to check. The solutionis x= 2 . X d‘ m J;As gﬂ

4x=8

4x\4=8\4
X=2
~ . \
Homework: Week 2 Homework
Score: 10of 1 pt 4  90of45(45complete)w | B

@225

Solve using the multiplication principle. Don't forget to perform a check.

12=6x

The solutionis x= 2 .



Homework: Week 2 Homework

Score: 10f 1 pt 4 100745 (45complete) w | p
@) 2.2.11
Solve using the multiplication principle. Don't forget to perform a check. The solutionisx= -9
11x=-99

Homework: Week 2 Homework

Score: 10of 1 pt 4 11of45 (45 complete) w | p
) 2.2.21
Solve using the multiplication principle. Don't forget to perform a check The solution is x= 35 .
3
7X= 15
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Homework: Week 2 Homework

Score: 1 of 1 pt 4 | 120f45 (45 complete) w | p

@) 2225

Solve the equation using the multiplication principle. Check your solution.

T

x= =56 (Simplify your answer.)

B B Yacunew _seu
Homework: Week 2 Homework

Score: 10of 1 pt 4 150745 (45 complete) w P
@) 2.3.11
Solve. Don't forget to check. The solution is x= - 12
—113=7+10x (Type an integer or a simplified fraction.)

Homework: Week 2 Homework

Score: 1of 1pt 4 180f45 (45complete) w | p
@) 2.3.27
Solve. The solutionis x= 12..

(Type an integer or a simplified fraction.)

Tx=18
x+5x=



Homework: Week 2 Homework

Score: 1 0of 1 pt 4
@) 2.2.57

Solve the following equation. Check your solution.

0ex=12

Select the correct answer below and, if necessary, fill in the answer box to complete your choice.

There is one solution, x=

The solution is all real numbers.

¥ C. Thereis no solution.

13 0f 45 (45 complete) w | p
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Homework: Week 2 Homework

Score: 10f 1 pt [

@ 2.3.21 4Qale Alilas Ja
Solve.
Tx+11x=T72 18x=72
18\18x=72\18

\ X=4

Q\16 of 45 (45 complete) w | p

The solution is x= 4 .
(Type an integer or a simplified fraction.)

J

Homework: Week 2 Homework

Score: 10of 1 pt
) 2.3.39

Solve.

6-4x=7x-9x + 8

—

4 190745 (45 complete) w | p

x= -1
(Type an integer or a simplified fraction.)
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Homework: Week 2 Homework
Score: 1of 1 pt
@)2.3.1

Solve.

Tx+8=43

4 | 140745 (45 complete) w | P

The solutionis x= 5
(Type an integer or a simplified fraction.)

Homework: Week 2 Homework
Score: 10of 1pt

)2.3.23

Solve.

-4x-12x=80

4 170745 (45 complete) w | p

The solutionis x= -5
(Type an integer or a simplified fraction.)



Homework: Week 2 Homework
Score: 10of 1 pt 4 | 280f45(45cOgplete) w | p
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@255
Solve. 65%\100=0.65 65%Jof 800 = 520
What number is 65% of 8002 (Typf an integer or a decimal.)
X=0.65*800
X=520

\_ J

Homework: Week 2 Homework
Score: 1 of 1 pt 4  230f45(45complete) w | P

) 2.3.89
Solve the following equation.
19x-4-11x=2(4x-3)+2

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

The solution is x= . (Simplify your answer.)
¥ 5. Every real number is a solution
There is no solution.
T, S D
Homework: Week 2 Homework
Score: 10of 1 pt 4 260745 (45 complete) w P
) 2.4.21

Solve for the indicated letter.
b=6-a fora

The solutionisa= 6-b .

R

Homework: Week 2 Homework

Score: 1 of 1 pt 4  290f45 (45complete) w P
@259

Solve. 11% of 3.6 is0.4.

11% of what number is 042 [ \ (Round to the nearest tenth.)

4 ghal) Locail) Jgas
11%\100=0.11
0.11*x=0.4
X=3.6

\_ J




Homework: Week 2 Homework \
Score: 1 of 1 pt 4 | 270745 (45 conflete) w | B X*70=14
@) 25.1

What percent of 70 is 14?

X=14\70
20 % (Type an integer or a decimal.) X=0.20
Ay gia Al iglhaall 6N Y el al

X=0.20*100=20%
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Homework: Week 2 Homework
Score: 10of 1 pt 4 300f45 (45 complete) w P
@)25.29

The circle graph shows hamburger sales by various restaurants in a recent year. The total sales were 840  Hamburger Sales
billion

W Manello's 44%
@ Burger Cove 22%

[ Mary's 8%
M Harold's 10%
[ Other 16%
What were the total hamburger sales by Manello's, in dollars?
$6.40 billion ¥ 5. $17.60 billion
$1760 billion $4.00 billion
Homework: Week 2 Homework
Score: 10of 1 pt 4 310of45(45complete)w P

) 2.6.GS3
The sum of two consecutive mile markers on the interstate is 533. Find the numbers on the markers.
Let x equal the first mile marker. Write an expression for the second mile marker.
x+1
Next, translate the statement, "The sum of two consecutive mile markers on the interstate is 533" into mathematical symbols.
x+ x+1 =533
Collect like terms.
2x +1=533
Subtract from both sides of the equation.
2x+1-1 = 533-1
2x = 532

Divide both sides of the equation.

2 2
x = 266

If x=266, thenx + 1= 267

The mile markers are numbered 266 and 267.
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Homework: Week 2 Homework
Score: 1 of 1 pt 4 45 0f 45 (45 complete) w
) 2.8.39
The width of a rectangle is fixed at 5 cm. Determine (in terms of an inequality) those lengths for which the area will be less than 110 em?.

The length must be less than 22 cm
(Simplify your answer.)

110\5=22

The solutionis {L |L < 22 cm}.
(Simplify your answer.)
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Homework: Week 2 Homework

Score: 10f 1pt 4 440745 (45complete)w | B HW Score:

2823 =

9
A metal stays solid at Fahrenheit temperatures below 1725.4°. Determine (in terms of an inequality) those Celsius temperatures for which the metal stays solid. Use the formula F = gc +32

The solution setis {C|C < 940.8 °}.
(Round to the nearest tenth )
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1726.4=9/5 C+32

—
Homework: Week 2 Homework

Score: 1 0of 1 pt 4 | 430f45 (45 complete) w | p

¢)2.83

Translate to an inequality. Use the variable x.

The baby weighs more than 7 kilograms (kg).

The inequalityisx > 7 kg.
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Homework: Week 2 Homework

Score: 10of 1 pt 4 | 420f45 (45 complete) w | p

@) 2.7.79

Solve the following inequality using the addition principle and the multiplication principle.
5(r—10)+2<6(r+2)-58
Select the correct choice below and fill in the answer box to complete your choice.

(Type an integer or a fraction.)
v

The solution set is {rlr >
The solution set is {rlrs
The solution setis {r|r <

The solution set is {rlrz



Homework: Week 2 Homework

Score: 1 0of 1 pt 4
) 2.7.63

Solve using the addition and multiplication principles.

41 0f 45 (45 complete) w | p

9-5x<2-4dx (Simplify your answer.)

The solution setis (x|x< }

HW!

Select the correct choice below and fill in the answer box within your choice

.4 The solution set is {x]xz 7}.
The solution setis {x|x> }
The solution setis {x]xs }
Homework: Week 2 Homework
Score: 10of 1 pt 4 400f45 (45 complete) w P

~
J)2.7.29
Solve using the addition principle and complete the answer in set-builder notation.

i gl
Y*5570

Select the correct choice below and fill in the answer box within your choice.
(Type an integer or a simplified fraction.)
The solution setisfy |[y=  }.

The solution setis fy | y<  }.

1
The solution setis {y | y< 3 }

The solution setis {y |y> }

- i1

Homework: Week 2 Homework

Score: 10f 1 pt 4| 390745 (45 complete) w | B
P
) 2.7.21
Solve using the addition principle.
(Simplify your answer)
2x+7>x+11 ik
The solution setis {x|x2 |}

The solution setis {x|x< 1}

Save
HW Score: 100%, 45 of 45 pts
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Select the correct choice below and fill in the answer box within your choice.

¥ C. The solution setis {x | x> 4}
The solution setis {x|x< }.
cESTeES
Homework: Week 2 Homework
Score: 10f 1 pt 4 320f45(45complete) w P

A 255-inch board is cut into two pieces. One piece is four times the length of the other. Find the lengths of the two pieces.

The short piece is 51 inches long.

The long piece is 204 inches long.

4x+x=255
5x=255

X=51

\\‘> so 4x=51*4=204
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Homework: Week 2 Homework

Score: 1 0of 1 pt

@)26.9

4 330f45(45complete) w | P

The numbers on two consecutively numbered gym lockers have a sum of 137. What are the locker numbers?

The locker numbers are 68,69 .
(Use a comma to separate answers.)

Homework: Week 2 Homework

Score: 10of 1 pt

«)26.13

The sum of three consecutive odd integers is 207. What are the integers?

The first integer is 67
The second integer is 69

The third integeris 71

4 | 340745 (45 compjete) w
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Homework: Week 2 Homework
Score: 1 0f 1 pt

) 2.6.23

VIV Lage gana Gl
137/2=68.5

69,68

YoV alaelY £ sana
4

X=first number
x+2=second number
x+4=third number
X+X+2+x+4=207

3x+6=207___ 3x=201

4 350745 (45complete) w | B k

X=67__x+2=69___ xgAs71
HW Score: 100%, 45 of 45 pts
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In a triangle, the measure of the first angle is three times the measure of the second angle. The measure of the third angle is 60° more than the measure of the second angle. Use the fact that the sum of the measures
of the three angles of a triangle is 180° to find the measure of each angle

The measure of the first angle is 72 °
The measure of the second angle is 24 °

The measure of the third angle is 84 °.
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Homework: Week 2 Homework
Score: 10f 1 pt 4 360f45 (45 complete) w | p

$)2.7.GS10

Solve

Ty+2=-2+6y

What is a good goal for solving inequalities such as this one?

Look for integer values of the variable that make the inequality true.
Bring all terms to one side.
Completely factor each side.

¥ 1. Isolate the variable on one side.

Which of the following operations is a good first step toward achieving this goal?

Subtract 7y + 2 from both sides.
Divide both sides by 6.

¥ . Subtract 6y from both sides.
Subtract 2 from both sides.
Divide both sides by 7.

Subtract By from both sides of the inequality.

Ty+2 s -2+6y Begin with the given inequality.
7y+2- 6y s -2+6y-6y Subtract.
y+2 -2 Simplify.

What is a good next step? Select the correct choice and fill in the answer box to complete your choice.

Divide both sides of the inequality by

¥ . subtract 2 from both sides of the inequality.

Now, subfract 2 from both sides of the inequality.
y+2-2s-2-2
ys -4 Simplify.

Therefore the solution setis {yly = -4}

Homework: Week 2 Homework

Score: 1 0of 1 pt 4 37 0f45 (45 complete) w P

@)2.7.1

Determine whether each number is a solution of the inequality x > - 18.

a)18 b)0 ) -18 d)21 e) 208

a) Is 18 a solution of the inequality?

¥ yes (Faas Ja Slarall ae Y (e (38aIN LA o gllaal)
no
¥ a) daal jial

b) Is 0 a solution of the inequality?

v

yes
no

c) Is - 18 a solution of the inequality?
yes
¥ no

d) Is 21 a solution of the inequality?

no
¥ yes
€) Is 20.8 a solution of the inequality?
no
¥ yes



Homework: Week 2 Homework

Score: 10f 1 pt
@275
Select the graph of the given inequality.
x>-9

Choose the correct answer below.

Save

core: 100%, 45 of 45 pts

piead) o2l Jla (A ageall slad) (s b
JBU Aaty i ! S Ay Caill

3 Question Help Q

K 9

—— \ ] \

— + ] }

-10 8 3 4 6 8 1 -10 3 5 4 6 10
-9 v )
L .
13

10 3 s 4 4 6 8 10 10 3 5 4 4 6 8 0

@azizhe;p_seu
@azizhelp_s

aziz.seu

T R

u Student@seu

y @azizhelps

ANaey i o daa el Jhd csthaall Uy

<> Blsbana (392 Al all ol a3 G gl 3 L

Lz Al slall ¢ (nd 138 (a5 5 L]
13 Craa (1

~N




